-1 -
piece 1, NC 000913, yfiOrai A+, config: linear, direction: +, begin: 2734876, end: 2735195

*2734880 * *2734890 _* *2734900 *

2734900 *__  *2734910 * ___ *2734920 * ___ _ *2734930 * _ __ *2734940 * _ __  *2734950 *

5’atcatcgccgcaaacagcagcaatacataacagaaacctgaaacacaaaacggcagcccttgagctgccgtttttttattc3'
-ile-ile- ala- ala- asn - ser - ser - asn - thr - @ - - - - - - - - - - - - - - - - - -
- ser - ser - pro- gln - thr - ala- ala- ile- his - asn - arg - asn - leu- lys - his - lys - thr - ala- ala- leu- glu- leu- pro - phe - phe - tyr - ser -
- his - arg - arg - lys - gln - gln - gln - tyr - ile - thr - glu - thr - - - - - - - -fMet - ser - cys - arg - phe - phe - ile - leu -
____*2734960 * __ *2734970 * *2734980_* *2734990 * _ *2735000 * __ *2735010 _* *2735020 * __*2735030 _*_

5’tgtcagttgtgaaactgaagcgatttagtcgctatcgatctcatcaaatatggctcgcttt agatattcctcaagtaaaa3'
- val - ser - cys - glu - thr - glu- ala- ile- @ - - - - - - - -fMet - ala - arg - phe - glu— ile - phe— Ieu— lys - @ - -
- ser - val - val - lys - leu - lys - arg - -arg-tyr-arg-ser-his-g.L-|Ie-trp-|eu-ala- - tyr - ser - ser - ser - lys - lys -

p35 3.8 bits CGleo 2.5 hits p35 4.6 bits

.................. } p35-(22)-pl0 2735003 Gap 2.3 bits
........................................... | p35-pl0 2735003 total 4.0

p35-(22) - p10 2735039 Gap

p35-pl0 2735039 total 4.1
12735040+ 2735050 * __*2735060_* ___  *2735070_*
5 T aacatctcttcctgcgatttctcacaaaaaagattcott
thr - ser - Ieu - pro- ala- ile- ser - his - lys - lys - asp - ser - -
(Gﬁ T p10 1.8 bits
I O Hp10 0.6 bits sd
= -+~
{--------- ' -sd-(&))-ir 2735097 Gap 2.3 bits
--} p35-(22)-p10 2735039 Gap 2.3 bits - sd-ir 2735097 yfiOrai A+ total 7.3 bits
--] p35-pl0 2735039 total 4.1 bits

} p35-(23)-pl0 2735100 Gap 1.4 bits
| p35-pl0 2735100 total 5.6 bits

2735120 *  *2735130 * 2735140 *  *2735150 *_ *2735160 _* *2735170 * *2735180 *_ *2735190 _*
5 T acatcaggaacgg'f-atgctgaa'f-tcaccaagacgggaagacaagaggtaaaa'f-tt Caatga
- - - - - -fMet-Ieu-asn-ser-pro-arg-arg-glu-asp-lys-arg-
———— —_ arf 15 codons
— = oo = sd p35 0.7 bits
L = ')
- o T iryfioraias .-
o)) o
- --- - } sd-(7)-ir 2735135 Gap 3.7 bits e oo _ coiesd

------------- | sd-ir 2735135 yfiO rai A+ total 8.0 bits co-z-------------| sd-ir 2735176 yfiO rai A+ total 14.0 bits

pl0 7.6 bits

} p35-(26)-pl0 2735169 Gap 3.7 bits
| p35-pl0 2735169 total 4.6 bits



